14|LG-M5X75 Bolt Stainless steel 1|P5X80
13|/8STG4X30B  |Ancher nylon 2|@6X30
12|8ST4X40B Screws Stainless steel 2|M4X40
11|8SD98X53X05 |Gasket Stainless steel 1|P10XP5X0.5
10/8NM5 M5 Nut Stainless steel 1|M5
9/8CM5X8 Internal Hex Screw |Stainless steel 1|M5X8
8|8BS25 2.5mm Allen Key |Stainless steel 1/55X18
7/84AA030011 |Decorative Cover |Brass 1|®P54X10.5
6/83AA310043 |Decorative Brass 1|P18X6
5/83AA030011 |Positioning Sleeve |ABS 11p14.4X8
4/81AA310043 |Base Pipe Stainless steel 1|®P16X0.6X65
3|81AA040043 |Decorative Cover |Brass 11P24X11
2|80AA310051 |Transverse Tube Stainless steel 1|P18X0.8X282
1/80AA030011 |Mounting Base Stainless steel 1/®42.5X8.3
Item |Part No. Name Material QTY |(Size




	页面 1
	视图
	new_view_1



